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VCE Math Methods Exam 1 2003 solutions

Part I

	1
	2
	3
	4
	5
	6
	7
	8
	9

	D
	B
	B
	D
	E
	A
	C
	D
	D


	10
	11
	12
	13
	14
	15
	16
	17
	18

	C
	C
	A
	A
	E
	E
	C
	E
	A


	19
	20
	21
	22
	23
	24
	25
	26
	27

	E
	C
	A
	E
	D
	D
	B
	B
	B


Q1    Turning point at 
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Q20    Two linear factors only, 
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Q23    Same
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           Alternatively, it is a binomial distribution with 
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Q26    Because of the large population, use binomial to approximate the hypergeometric distribution.
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Q27    Hypergeometric distribution.
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   Part II

      Q1    Let     
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Therefore 
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Q2a   Gradient of the tangent is the same as that of the given line, i.e. 3.
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Q2b   Gradient of the normal 
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Q3    Divide both sides by 
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Q4a   x-intercept: let 
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Q5a    Graphics calculator, 
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Q6a    Small:  
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Q6b    Expected cost per plant 
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           Expected cost for 100 plants = 251 dollars.
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